Chain Rule Again

Differentiate the following.
1. f(x)=(x—5)3(x+ 3)?

2. f(x)=(x-5*x+3)3
3. f(x) =1+ 2x3)*

4.  f(x)=(1+3x»)*

__sin?(x)
5. fl)= cos (x)
__cos?(x)
6. f(X) ~ sin (%)

7. f(x) = 2xsin(x?)

8.  f(x) = 3xcos(x?)

9.  f(x) = x*sin(2x)
10. f(x) = x*cos(3x)
11. f(x) = sec(vx)
12. f(x) = tan(Vx)

13. flx) = \/1 — sec(4x)

14. flx) = \/1 + sec(2x)



15.

16.
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flx) = i’/1 — tan(x?)

£ = Y1 + tan(x?)
fix)=(x*—4)*(x*+5)7°
fx)=(x*—4)°(x* +5)72
£(x) = sin(4x)cos(2x)
£(x) = sin(5x)cos(4x)
f(x) = sec(x*)tan(x?)

f(x) = csc(x?)cot(x3)

fo = [
f = [

X

Fl) =

f(x) =sin (i)
f(x) = cos (i)
f(x) = sin?(8x)
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40.

f(x) = cos?(3x)

f(x) = tan*(3x)

f(x) = tan5(2x)

f(x) = sec?(x) + tan?(x)
f(x) = csc?(x) + cot?(x)
f(x) = sin?(x) + sin (x?)
f(x) = cos®(x) + cos (x°)
flx) = (1 —sin®(x))°
f(x) = (1 = cos?(x))*
f(x) = xv1+3x*

f(x) = xV1 + 2x5



